P ——

%Bm Kit - 14 Steel Wheel (2 Ea)
-  R01343

Details
Includes 12 ea: R3211-6 Capscrew, R3254-6 Washer,

R800276 Nut; 8 ea: R3253-4 Washer, R5-1470
Capscrew; 2 ea: R5-1470 Rim, R5-2683 Spider Duct

Replaces
Toro 01343

Specifications
Manufacturer R&R Products

Fits Models
Toro Reelmaster Fairway

Toro Spartan Fairway

Replacement Parts

R3211-6 Capscrew

R3253-4 Washer - Lock 5/16
Zinc

R3254-6 Washer - Lock 3/8

R5-1470 Capscrew - 5/16-18 x
1-1/2

R5-2682 Rim - Spartan Fwy 14 in

R5-2683 Spider - Wheel - Ductile
Iron

R800276 Nut - 3/8-16 Hex Zinc

Pekerti Jaya Sdn. Bad
45 Jalan Industri US) 1/5, Taman Perindustrian USJ 1 SL1bangJay, 47600
603-80216684

https://pekertijaya.rrproducts.com/



